
11Underground Enclosures Product Catalog : Electric
Revision 6/20212-B-001  |

Hardware and Options

Enclosure Tools
- 3005065 Hook, Universal Lifting, 36" Hook - -
- 30005075 Universal lifting Hook 18” Galvanized

- 30005148 Bit, Spanner, Drilled, Hex, #10 Screw Size 
1/4” x 1” - - -

Carson Secondary Options
- - Mouse Hole Polymer Concrete - -
- - Mouse Hole HDPE - -
- - Knockouts - - -
- - Conduit Hole - - -
- - Dividers - - -
Carson Hardware

- 80002006 1x HBlt+ Wsh+ Rcfnt+ Clip 3/8"x2.5SSTCapt1220/1419 XX-50 1015, 1220, 1419, 1324, 
1703 -

- 80002008 1x HBlt+Wsh+ Rcfnt+Spring 3/8"-16 x 2.5 Capt 0910 Only 0910 -
- 80002025 2x Hexbolt + 2x Wash SST Hex 1/2” 13 x 2-1/2” 1324, 1730 -
- 80002007 1x LgPnta+ Wsh+ Rcfnt+Clip 3/8" x 2.5 SST Cap 1220/1419 1015, 1220, 1419 -
Duralite Hardware

80002071 2x Hexbolt + 2x Washer SST + 2 Floating Sq. Nuts Hex Auger Thread 1/2-” 6 x 2-1/2” 1015,1118,13424,1730 -
80002072 2x Pentabolt + 2x Washer SST + 2 Floating Sq. Nuts Penta Auger Thread 1/2”- 6 x 2-1/2” 1015,1118,13424,1730 -
80002073 2x Hexbolt + 2x Washer SST + 2 Floating Sq. Nuts Hex 1/2” -13 x 2-1/2” 1015,1118,13424,1730 -
80002074 2x Pentabolt + 2x Washer SST + 2 Floating Sq. Nuts Penta 1/2”- 13 x 2-1/2” 1015,1118,13424,1730 -
80002075 2x Hexbolt + 2x Washer SST + 2 Floating Sq. Nuts Hex 3/8”-16 x 2-1/2” 1015,1118,13424,1730 -
80002076 2x Pentabolt + 2x Washer SST + 2 Floating Sq. Nuts Penta 3/8”- 16 x 2-1/2” 1015,1118,13424,1730 -
80002079 4x Hexbolt + 4x Washer SST Hex 1/2” -13 x 3-1/2” 2436 -
HMS-710 Socket Penta, 1/2” drive - - -
HMS-720 Socket 7/8” Penta, 3/4” Hex, 1/2” Drive - - -

Oldcastle FRP Hardware
- 80002033 Bolt Kit, Oldcastle FRP, Hex Bolt, Washer, Nut ( Set of 2) Stainless Steel, 1/2" 13 x 2-1/2" 1118, 1324, 1419, 1730 -
- 80002025 Bolt Kit, Oldcastle FRP, Hex Bolt, Washer, Nut ( Set of 2) Stainless Steel, 1/2" 13 x 2-1/2" 1118, 1324, 1419, 1730 -
- 80002034 Bolt Kit, Oldcastle FRP, Penta Bolt, Washer, Nut ( Set of 2) Stainless Steel, 1/2" 13 x 2-1/2" 1118, 1324, 1419, 1730 -
- 80002026 Bolt Kit, Oldcastle FRP, Penta Bolt, Washer, Nut ( Set of 2) Stainless Steel, 1/2" 13 x 2-1/2" 1118, 1324, 1419, 1730 -

- 80002029 Bolt Kit, Oldcastle FRP, Hex Bolt, Washer, Nut ( Set of 2) Stainless Steel, 1/2" 13 x 3-1/2"
2424, 2436, 2448, 3048, 
3060, 3636, 3660, 4848, 
4860, 4872, 4896, Rounds

-

- 80002030 Bolt Kit, Oldcastle FRP, Penta Bolt, Washer, Nut ( Set of 2) Stainless Steel, 1/2" 13 x 3-1/2"
2424, 2436, 2448, 3048, 
3060, 3636, 3660, 4848, 
4860, 4872, 4896, Rounds

-

Oldcastle Polymer Hardware
- 80002005 Hex Bolt + Washer SST 1/3 13 x 2-1/2” 910 -
- 80002025 2x Hexbolt + 2x Washer SST Hex 1/2” 13 x 2-1/2” 1324, 1730, 2424 -
- 80002052 2x Hexbolt + 2x Washer SST Hex 1/2" 13 x 1-1/4" 1118, 1212 -
- 80002033 2x Hexbolt + 2x Washer SST Hex 1/2" 13 x 2-1/2" 1118, 1324, 1730 -
- 80002029 2x Hexbolt + 2x Washer SST Hex 1/2" 13 x 3-1/2" 2436, 3048, 3060 -
- 80002080 4x Hexbolt + 4x Washer SST Hex 1/2” 13 x 3-1/2” 3060, 3636, 4848 -
- 80002054 2x LgPnta + 2x Washer SST Penta 1/2" 13 x 1-1/4" 1118, 1212 -
- 80002034 2x LgPnta + 2x Washer SST Penta 1/2" 13 x 2-1/2" 1118, 1324, 1730 -
- 80002030 2x LgPnta + 2x Washer SST Penta 1/2" 13 x 3-1/2" 2436, 3048, 3060 -
- 80002081 4x Pentabolt + 4x Washer SST Penta 1/2” 13 x 3-1/2” 3060, 3636, 4848 -

RATING PART # DESC 1 DESC 2 COLOR FOR USE WITH DESIGN 
LOAD (LB)

QUICK 
SHIP




